i<
www . tecochina.net

contents

TECO, a famous globalize enterprise group, share the forefront in global industrial motor of the world;

and it has successfully diversified into a highly competitive development conglomerate with worldwide
business operations including heavy electrical, home appliance, electronics, IT system, telecommunications
equipment, financial investment from the motor giant enterprises. TECO Group currently has nearly hundred
oversea affiliates and subsidiaries, and the total global employee amount is over tens of thousands. It has a
wide range technology cooperation with many world famous enterprises, such as GE, Japan Yaskawa, the U.S.
Westinghouse, Siemens of Germany, Japan, Hitachi, Mitsubishi and so on, its business territory has been
extended to Asia, America, Europe, Australia, and became known as a well-known World Group, TECO had
become an international brand.

In order to integrate management and provide services for the motor sales of TECO in China, especially
set up Shanghai TECO Electric & Machinery Co., Ltd in August of 2012. And Shanghai TECO integrated four
manufactories base that located in Suzhou, Wuxi, Jangxi, Fujian co-ordinate marketing services for the
customers in China. Shanghai TECO Electric & Machinery Co., Ltd is one of the subsidiaries of Taiwan TECO
Electric and Machinery, is also the sales headquarters in mainland China and specializing in marketing various
motors. Now the sales range of introduction motors had across the country, the strength of motor
development range is available in low, medium and high voltage (up to 13,800 volts) premium efficiency and
high performance motors, range from 1/4HP to 60,000 HP. At the same time as the only sales window of the
TECO Group in mainland, Shanghai TECO sales all the motors such as asynchronous, synchronous, DC motors
which produced by Taiwan TECO, TECO Westinghouse and other overseas factories.

Shanghai TECO Electric & Machinery Co., Ltd provides customers with world-class products and
satisfactory services based on its advanced technology and good management.

For any technical questions, specific applications certified dimensions and performance data, etc., please
contact our TECO representatives.

Shanghai Teco Electric & Machinery Co., Ltd.

Add : Room 321, Building NO.6, Lane 1279 Zhongshan W.Rd,Shanghai, Post 200051,PRC
TEL: 021-51168255 FAX: 021-32098761
Web : http://www.tecochina.net

http://www _tecochina.net

F.Tr—r-@ﬂ]’

HGotEF BBk DIV BIk SBFESFIES , AT HFE15 ; HNBIMEA WA RESER . 5HE B
Z. Bl SRS T IEHNEESERF NS TEENT W ER, FocEF BRI RISIIE
A, SEeENF TR TIAB AL L, #Z25HFRESRESERE GE. BAR)||. EEHARE. #EA 17
HABM., —ZEHTVEBRASIE, ERRECT EZWM. S5M. BOH. BN, BosrIENiHFER TECO B2
R N EFRERRE,

NABEERRSHFOUBEINTFEXSANSEE |, 51 2012 4 8 B EisHFn@EasBiaRAsw , BEkR
TOEIN. Tot. JLPA. iR VLKA~ Ei REFTHRSFERF. DsfotEaEFotBiERNFASZ
— [ FEGTTEFEARGNEESH , SWNEENNES TF  BasSE8aiiES cEcENcESt | if
BM 1/4HP | 60,000HP {EFEEDSAS 13,800V EEBESE DR ZIATSGIST, ME{EAGTSEREX
FEHME—EENE , RIEEE50T, ERFTREEREBIN L) iRy | B EnSESMEsil. Hs5oTE
SHETERABELSGHNRA , RFNER RS RUER R~ R ERRS.

MEEHTRAEERBEEANDIAINERIE. AUEER. FESFER BEinsaii 12l s RF%k.

EsfoTEEBERAE (FEXEEST)
sHoTEEBEIERAT

et - EiSmhicTXSILIPEEE 1279 %5 6 S 321 =
EHiE 0 021-51168255 f£HE : 021-32098761
Web : http://www.tecochina.net

ol mAENEESE | IIEEERASITEL.

All date presented is for reference only and subject to change without notice




Fh®E

. o R

1956 & HUBHRBBIRAFRRIALTAE=ED.

1965 4 FEBEASESE—EaEmCENES
I .

1966 4f TRIJ R (BRESAFEARL) .

1973 4 ok BHE, £54 S BN Bk
MERE™MA.

1979 £ hifi— B T/, SARFBLIR
% F=EM.

19834 WE BR,£BMN. . SHET~R
B EingE.

1987 & I BI FEAl, SHEAEE~B
ABIEH.

1991 4F WHASK B Tk, SALHFHBshL
EFERBES.

1991 4F SREE B 5EMl.

1994 4 MBFEFEN ET TR

1995 £ HMEEPEE (WESTINGHOUSE) FBHLI .

2000 F  FHMERTHHE .

2002 & EBIHRTEME .

2003 fF  EBHETIERE~.

2004 5 RBETE—TEI .

2004 £F STAZRTHEME .

2008 4 FEEEFRTEIEN .

TAMEMES

VY JEFSF LT ¥

EHE s MT13S20140RIM 3200
#HiEH
FRTEHAR LR

BT TR £ Fo Rk 9 5

ST L G s S W SR R BB T R R R
OHSAS 18N1:2007
GB/T 28001-2011
$u‘F-151qJ IT-:T&#HKH‘JR)T-I A
SHRsaail. Fhlhl bt ez Emn

HARERN naminuE CAREEM Mo nnE FAREL 2085 08

Ey ﬁﬁng

Signed by VWang Wifias -

tcec.

N

REELBEAERESR

T 11302100 7RIME00
HiFW
FtRETRiAREE

R B R
1S09001:2008

Mo moseizaH  FARERE PR AEA ARAE i 1

TERBUEDH

€ak

e

GRS AR R

S 001 13E20206R 1M 3200
#AEW
FRETRNERARE

b A 1 AR T R

SE TR B 1 b
1S014001:2004

GB/T 24001-2004
:-u.?-!-l.:{!:.@?;l..*‘l 1“-"'?:‘-\ 7
)
c @D 4 M ==&
;Y

SYIICEL

=R R

SERIES THREE PHASE INDUCTION MOTORS

H %

Contents

RITFRY =R E N

Teco F Series Three Phase Induction Motors

AR ¥ Technical date
{8 F 4% Applicationt

B4 s Character
T RE1BA Saving Efficiency Instructiongs

= Noise levels
&b 485 Product Number

R

Data Sheet

FroERIEB F4 Standard Motor
Model: TEGH/TVGH
Type:

AEEFF3/AEVFF3 (Fr#80M~250M)

AEHDF3/AEUJFS (Fr#280S~Fr#315L)

AEJEF3/AEJUF3 (Fr#315A~Fr#400A)

SMZE

Outline

IMB3

%= R~f % C-flange & D-flange

IMV1

13~14

14~15
15

16~21
21
22~26




BIAREHE

. =KL EN
gitEiE: EfFEEIER<S IEC60034; T EEFRIFE GB755
JISC4212,CNS14400

SEERE: B0V ETHEE

MEE: 50Hz

MHThE:. 0.75~375kW

TEfl: 154 T fE5—S1 (S.F.1.0) SEESHz~50Hz b mE4E |
50Hz~100Hz M 1BThE | (BB 5IRE T

HEES: 80~ 400A
BRHPEELR: P54
BHEIBFR: 1IC4n
MRSREEAD . F 4RLnik
B HUES/F180M, BFF#BidsoC
HEE-S 7 180L~250MB H A #8it 105°C
HESATF280S, BFAIBITE0C
28R IMB3( ZKFEMEEREE ) IMV1( Sratti T F#80-365L1)
RECHHNBSENRERTEBHR
e REME RS EERIE GB18613-2012 GB34&EM . IEC60034
—30 2014/IE2

BERAFRNE

BRKH: BEEINE £ 10%A; MREHEL5%RUA; BER
PR AR AR R R10% AP, {BMEREEREFE £5%,

ARG EA . ERESARTE

HIEEE: -15~40C

PRIEREE: 13T 90% BUF( B geEs )

BREE: ik 1000m BIF

f&shsEt: s iEsl, B22P 22kWE I £, 4P&6P Fr#280R& 11
iR RE LN

HESEFIM: ST Eiess, S @iRiAF S S e &istrE T 8— 8
B, T 1) e e 0 3 DA 1 e R

Exhp: cEEEEHE Y-ARsh, 55kW R 1Y
5.5kW RBLE: A
¥ BxE (Munsell 7.5B 3.5/0.5)
ER: REBMBYEHRFFABBIFEIEN, RSN IR
HERRE, DR EERRTHEE .

SR

o] A — AR RS T SAR AN A ( EMMARIRENTE: F IR, TR
E 460V AT ) A WAL/ KR [ SR ) ( T2
8 F#280S~400A 7E F &R AL 55K )

IP54 Pidpedta, Bid, BiKFERHk, SFEESR, Biaiat, e R
A, BEEAREM

fCDMOTORS
1

TECHNICAL DATA

Class: Three phase induction motors
Design standard: IEC60034 GB 755 ; JISC4212,CNS14400

Rated voltage: 380V or other

Rated frequency: 50Hz

Output range: 0.75~375kW

Time duty:Continuous. S1 ( S.F. 1.0.. ) Inverter motor suitable Pump
& Blower application, motors frequency variable form 5Hz—50Hz,

give a reduced, while frequency variable from 50Hz—100Hz, gives
a constant power, the running current doesn’t exceed the rated current,,

Frame Nos.: 80~400A

Protection enclosure: Totally enclosed(IP54)

Cooling method: Self external fan,Surface cooling(IC411)

Stator insulation: Class F insulation system

Temperature rise: Frame NO.Up to 180M: Not to exceed 80°C
Frame NO.180L~250M:Not to exceed 105°C
Frame NO.280S and above:Not to exceed 80°C

Mounting: IMB3, IMV1 or others For typical performance and

dimensions of series motor refer to table hereunder.

eGB 18613-2012. /GB3,IEC60034-30 2014/IE2

APPLICATION

Power source conditions:Voltage: +10%, Frequency: +5%,
and 10% Max. of Combined Voltage and Frequency .But Freguency
Variation Does Not Exceed +5%

Place:In door, Non—hazardous

Ambient temperature:-15~40°C

Relative humidity:Less than 90% RH{Non-condensation)
Altitude:Less than 1,000 meters

Drive method: Belt Service , However , 2 Pole 22 kW and Up , 4 & 6
Pole F# 280 and Above Coupling Service is the Way .

Direction of rotation:Counter Counterclockwise when facing the
drive end side and the alphabetical sequence of the terminal letters
of a phase troup corresponds with the time sequence of the terminal
voltages, the external fan is designed for bi—directional rotation.
Method of starting:Full voltage direct on line or Y- Astarting 5.5kW
And below:Y; 5.5kW and upside: A

paninting: Blue-Gray Color ( Munsell 7.5B 3.5/0.5 ) .
Requirement:Basically,the coupling and belt should be heated and
pushed onto the shaft extention with slight axial force,Do not
hammer to prevent bearing damage.if need special requirement,
further disscussion will be demanded

Drive method:Belt,direct coupling,gear and so on

CHARACTER

Can be used with common power supply or the inverter(operate
with inverter, temperature rise if F class, when the voltage of the
inverter below 460V)(Inverter load: Blower Water Pump Fluid
machine)( recommend Inverter motor Fr # 280S ~ 400A bearings
in F insulated bearings)

The protection enclosure is |IP54,protect dust,drip and oil,Cast iron
Frame strong configuration,which is accord to international
standards and safety safeguarded further.

The stator insulation is class F of TECO insulation system with
good heatproof quality,

Website | http://www.tecochina.net

KARTTF Ribsk, WARES, AP ER, LEEGK, HEELHE
ThEERESE
SEAEEO SRRz R, ZEEW R, HEERRE

MsEfeenigit LR R ERNONTRENZTENHERIEESR,
RERAEZRESHRNN BER. ZLTH

WA, EIBEE P BE BRI EE, PTC, 2 E/074:5, RTD,PT100
RHEE

=IEE Profile

TECO

strong resistance to electrical sparks,long insulation life and can be
competent in the bad environment.

These ranges use bearing imported from famous brand company
and the silicon steel sheet are come from famous national steel

company.
Standardized design, high quality material, advanced processing
equipment and consummation quality guarantee system,it is
embody in the high efficency,low vibrate and reliable safety.

the thermistor,PTC,Heater,RTD,PT100 or others can be provided
according to the needs of purchaser.

1 EXTERNAL FAN(R 53) 7 FRAME(#EZ2)

2 END BRACKET (i 3% 8 BEARING(4#7K)

3 FAN COVER(R &) 9 END BRACKET (3 %

4 BEARING(£h7K) 10 SHAFT (%)

5 STATOR(ZE¥) 1 KEY()

6 ROTOR(%F) 12 TERMINAL BOX(#:4 &)

Website | http://www.tecachina.net

TECOMOT! 0}/
2



¥=zh Vibration
P B Eh LS FERGE LB B AR (08 ) IREV SRS
S E SRS RN EEEREART FRPH A RFFIHE,

Rotors are dynamically balanced to severity grade A using a half
key.Table below contains the effective vibration values for
unloaded motors.

= =

5 _ e =
Vibration grade Frame size (mm) 80=H=132 160=H=280 315=H=400
ZHEH Fral i (mmys) A (mm/s) HAEE (mm/s)
A Mounting Vibration velocity Vibration velocity Vibration velocity
BHAE
Free suspension U e 25

mEEiE Max. rpm

BERBMEMNNNR SIS TEE

MaERRE L HATR0E, TN EER 1000V B LT HUES 400 BT
B FRR=AE RN GRS EERI HNE R A RS TS

e

Safe running speed for the squirrel-cage induction motors.

Unless otherwise the name plate specifies , all the squirrel-cage,
3 phase, induction motors lower than 1000V and smaller than 400
Frame Size can safely run continuously at the speed in the table

&7 below.
The safe Max. rpm for the squirrel-cage, 3 phase induction motors
of 1000V or lower.

BE 1000V R TF =B NEHIEAESETHE
BIA% | |44 rpm/min

HEES
Frame Size
<100 5200 3600 2400
112 5200 3600 2400
132 4500 2700 2400
160 4500 2700 2400
180 4500 2700 2400
200 4500 2300 1800
225 3600 2300 1800
250 3600 2300 1800
280 3600 2300 1800
315 3600 2300 1800
355 3600 2300 1800
400 - - 1800

Note: When the motors run above the rated speed, for example,
using in speed controller, the noise and vibration will increase. In
this situation, the motors are required to be corrected to satisfy
the acceleration ability above the rated speed. Besides, the
bearing lifetime will decrease. Pay attention to the time for adding
the oil and grease to insure its lifetime.

iHPAE&FE® Grease life (Horizontal installation)

. SE@SIETEESEEM BTN, flm, XN ARSI, £
U 7S AR Eh 38 B SR KB R BRI 4 B DU R E B
BRI HYDOTRRE ST o b 5h , R A O] RE R PR o N S bt 0 B FR B
[EFh T R R E

HLEES Frame size %% Poles iHi8AE %54 Grease lifetime up to CT 40T
0 hnih e e B gh A& A0i8 /8 A8 Grease for permanent lubrication bearing
80~225 | 246 | 20000 /7 (h)(B3 %% )
A 8RR 4988 A8 Grease for regreasable bearing
250 | 2,46 2000 /]\EY (h)
280~315L | 2 2000/)\8% (h)
280~315L 12,6 4000/)\8F (h)
315A~355 | 2 2000\ (h)
315A~3556 | 4,6 3000/)\87F (h)
400 6 3000/1\87 (h)

iE: Note:

1.If the coolant termperature is increased by 10K, the grease lifetime and regreasing interval are halved,
2.20000 h apply to horizontally installed motors with coupling transmission.

1. SHEEESTS 10C, ERESGUEFEINERE— ¥,
2. 20000 /SR T EAUKE R ER IR EE,

TECOMOTORS
;\ Website | http://www.tecochina.net

78R Site altitude above sea level I E c o

1. BHLH TR e S E S Th =4 T{k The changes of the output of the motors for the environmental temperature and elevation.
2. T{EAThE = HEE X £ % Available power = rated power X coefficient

Max. permitted power in relation to coolant temperature und absolute altitude

absolute altitude above sea level

Coolant
temperature 1000m 1500m 2000m 2500m 3000m 3500m 4000m
(air) Max.permitted power /Rated power Py
o00C 1.07 1.04 1.01 0.98 0.96 0.92
10T 1.10 1.07 1.04 1.01 0.98 0.95 0.92
20T 1.10 1.07 1.04 1.00 0.96 0.92 0.89 0.86
30T 1.06 1.02 0.97 0.93 0.89 0.85 0.81 0.77
40T 1.00 0.96 0.91 0.86 0.81 0.76 0.71 0.66
50C 0.90 0.85 0.80 0.75 0.70 0.65 0.60 053
60T 0.80 0.75 0.70 0.65 0.60 0.54 0.47 0.40
1.1 ] ————]
]
5 == 0 =
_.—-—-\——._.._,______‘

g 09 F ﬂ‘HEEEEREEM

_§~ - """"-——...____:"____;-:: —— R;H“\-\\" ""--..._\_‘-— 1000M
& 07 \::;:.h\_\ e —— 1500M
3 20001
2 \ \ fisa -b‘\""*--..,__ — 2500M
g 06

g e
H 05 ~] ~—|— 3500M
3 04 \

03
00t 10T 20C 30t 40C 50T 60C
Coolant temperature (air)

&% SRS, FESHE, BUAMEE, A LSRRGS, BABEEET, RIESEAEERERE,
Note: In high altitude areas , due to the thin air, the effect of cooling is bad .The temperature rise must be decreased to prevent the motors
from destroyed over temp to ensure the motors to run safely.

#EHIL (IM)

il R E IRR gt AAEhTE B L2
IM 1001(IM B3) | M 3001(IM B5) '_l' IM 2001(IM B35) '_l'
=H—- -
7K dh AR BT
AP bh B -Q—J D Flange j_ D Flange I—]_-&—-
IM 1051(IM B6) — IM 3011(M V1) ) IM 2011(M V15) ]
" pi = _ J BEEM WiRE T e mﬁfﬁgﬁﬁgg I::I
B s e I D Fiange = D Flange i
IM 1061(IM B7) — IM 3031(1M V3) []__I IM 2031(IM V35) il
1
I o FEL D -
Resh TR HE L :
BRI D , D Flango G I a
IM 1071(IM B8} _—— IM 3601(IM B14) L 1 IM 2101(IM B34) ] 1
S — - K4 -
K KP4 4
BORE X AR C Flange 1 J i I_l-Qr—J
IM 1011(IM V) ] IM 3611(M V18) 1] IM 2111{M V17) 1]
' § T 1 '
EH rl] 4 bl T - Iﬂ
g 16 B A il C Flange aiin M%Q;ﬁ;ﬁlggﬁﬁ '_[]"
IM 1037(1M V6) Il IM 3631(M V19) il IM 2131 (IM V37) il
[ T E [
i EEL
EE4 ' T L !
R B e [l:] C Flange i E]
Ll

Website | http://www.tecochina.net

TECOMOTOy
4



582 MALE#
Force fan motors data

AL L

F

B — ( Fr#80~250 ) B ( Fr#280~315)

E= ( Fri#355~400 )

W BRHREHEA S
e = B R
HE Rated
Frequenc Cument Speec
Volag b o "(“‘;'f,;" Noise(A) Co)
4P—6P
2P
20 380 50 35 0.1 2800 91 125
4P-6P
2P
100 380 50 40 0.1 2800 142 125
4P—6P
2P
112 380 50 45 0.1 2800 229 124
4P—6P
2P
132 380 50 45 0.25 1400 337 171
4P-6P
2P
160 380 50 50 0.25 1400 609 166
4P—6P
2P
180 380 50 75 0.25 1400 686 168
4P—-6P
2P
200 380 50 100 03 1400 1679 20
4P-6P
225 2P 380 50 120 035 1400 1786 124
4P—6P
250 i 380 50 230 07 1400 1813 144
4P—-6P
280 s 380 50 750 1.88 1425 1500 209
4P-6P
315S/MIL 2P 380 50 750 1.88 1425 2400 204
4P—-6P
315/ACD 2P 380 50 1500 334 1430 3600 o
4P-6P 421
355 2¢ 380 50 1500 3.34 1430 3600 99
AP-6P 281
400 / 380 50 1500 334 1430 3600 /
6P 241
-

BEEEEH
Terminal box data
xS

Space Heater

B

B— ( Fr#80~250)

B ( Fr#280~400 )

ERAEASH P AT ES S A
e L) ShiEm 7L R ShfERF Outline(mm)
In T8 Har H1E (mm) (BZ+5Z) BrisinA RS
Number of Contact Quter cable Cable entry
terminals sCrew diameter size (Gland+ B (Spaces heater type)
thread ( sealing range Screwed plug)
80 1@, 220V, 15W
4i;fp 6 M5 6~12 ®22 56 100 92
90 1@, 220V, 20W
4P-6P
2P
100 AP_BP 1@, 220V, 30W
é; 6 M5 13~18 ®28 71 110 98
112 1@, 220V,
! 4P-6P oV, 40W
132 4P2P6P 1@, 220V, 50W
2P 6 M6 18~25 ®35 88 1565 137
160 1@, 220V, 60W
4P-6P
2P
180 4P_6P 6 M6 24-~32 52 105 173 167 1@, 220V, 80W
2P
200 4P_6P 6 M8 35~45 D65 122 218 203 1@, 220V, 80W
2P
228 TR 6 M8 68~77 92 147 256 245 |1 @, 220V, 100W
2P
250 2P_6pP 6 M10 68~77 D92 214 323 290 |1 ®, 220V, 100W
2P
280 4P_6P 6 M10 37~44 MB63X1.5 290 405 296
2_p 1®, 220V, 150W
(RS 6 M10 37~44 MB3X1.5 290 405 296
4P-6P
3556 4P2P6P 6 M10 37~44 MB3X1.5 305 493 375 |1 ®, 220V, 200W
400 4P2P6P 6 M10 37~44 MB63X1.5 305 493 375 |1 ®, 220V, 260W

Website | http://www.tecochina.net

TECOMOTOy
6



§2iR{S 2 Nameplate

fco MOTORS

e D
o[TECO -1 7s8ta,
TEGHB802—4 [ & AEEFFI————
\y’i 4 I 8OM
A% 1 hpo. 7ok [KAAY 1. 0]1p 54
iz 50 Hofx B s1 |8 .
g8 220/380 v A A E
Hl;ij, 3.32/1.92 a | 220v|¥] 380Vv| =
BNt 1425 thh i z
B 79. 6 % | Ve Vg Vig| i [ Ve tle V2 3
1 | T4.5 u1InIl1Ii e Vie Vi
B 4| 620422/620422 e
wﬂlpm4wzwo1 17 kg[2014
b X3 cBI/1E2 [BEREQ/320217ACV06-2012
O = | O
\ ﬂﬂﬁxﬁmﬁlﬁ 9"~
3CH#tR
f = N
TECO .. 5. .55
J—PHASE [NDUCTION MOTOR
O TYPE| AEEFF3———— |MODEL|TEGH25081—4 O
L/ [POLES 4 FRAME 2508
OUTPUT| 100 hp 75 kW[ s.F |1. 0] 1P | 54
U Ha 50 RATING| S1 |INS.| F R
VOLTS 380 A | |_A -
AMP'S L 180 V]= v H
t/min 1480 Nig Uig Vig |5 W2 Uz V2 s
EFF 4.0 I IIIIE lie Ve Vie 2
cose 88.5 % bS] ¢ ¢ ¢ =
BEARINGS| NU316/6313 LINE: “] LINE
SERNO.] PT145681001 562 kgl20 14
Bil-Grade] GBI /1E2 |DESIGN] Q/320217ACV05-2012
= R /\ =
o | MRRABRERDS | o
k. WUXI TECO Elec. & Mach. Co., Ltd. )
th X EBIR ( FRED )
'd ™
S[TECO -~ &5 th i,
TEGH250851—4[§ &[] AEEFF3———-
Wi 4 [ i 2508
08 100 hp 75 kW |RREE 1.0[1p | 54
UH!} 50 Ho (8 B s1 [8 & )
xRl 380 v A A :
Br&i 137, Al 380 v|E v :
B 1480 1/l i z
¥ 94 0 o we_ni_vi j_ WUl e
I 88.5 ne i nIi Ie Vie Vie
i A| NU316/6313 . vt
JEER| P7145681001 562 kgla0 14
b4 4| cea/iez [EEEE[o/320217A0V05-2012
O — =1 | O
O WMBRTBRERDL | ©)

R (57 )

TECO

#hERH Bearing temperature rise

EE

HERANSRERLHEASIfFREEERMRE @RI,
MBRHAFBAREARLEEFEEUENRIIB RS, BaAIACZELZEE, FALEFNRALXENRR, EUR
BEFEH,

WRMARF R FEREET NG, BN NgE s ERMREEREAE, FoUdEEHENT.

RohA BANRERTLES EESE RE
HAENHNRE 95°C  100°C

ATTENTIONI!

If the rate of rise in temperature is excessive or if the mo tor exhibits excessive vibration or noise,it should be shut
down immcdiatcly and a thorough investigation made as to the cause before it is operated again.

Following the initial start—up, the bearing temperatures should be closely monitored. The rate of rise in bearing temperature
is more indicative of impending trouble than is the actual temperature.

If the bearing temperature rise and motor operation appear to be normal, operation should continue until the bearing
temperatures stabilize.

Recommended limits on bearing temperatures are as follows:

Anti—Friction Bearings. Alarm temperature Trip temperature
By permanently installed detector 95T 100C

T TECOMOTORS,
Website | http://www.tecachina.net A




T58EHEA Saving Efficiency Instructiongs

A WX =

fth

iy

N

B HMETHITE
(1) BRAR=FERE+ B KA
() BFEFHBRNRAETE (L E1—E2 )

=kw X (100/E1—100/E2)
@) HEitEAN:

Hii+HRAR

El: FRHERE, E2: X

BURR AR R O1. 2% —~ S 92.7 %A ;
ETEETA:

37 X (100/91.2—100/92. 7)

C BHRRDIERFER

A

WERENELFR Comparison of efficiency standards

|
B PR

El: A
*,.m:gﬁ$

A bk

B2 EEAE
Y

IEURRE, Y S E2 * fn & A

El: s Em A

=

=

X BEE/E X BN/ E

f5): 37kw, 4P, 4E{FFI8000hr B,

X 8000 X 1=5252 7T

i | e
MEGEXX RN
CHINA ENERGY LABEL

sraen RMEATANARLA

SEARIRANBE R B R . =
MBS, HE. SEhEM
RN EE R .

i RATHE: GB18613-2012

Model: TEGH/TVGH

E= Noise levels

TECO

X4 FA[E (GB18613-2012) Jk3E (NEMA) | EC60034-30: 2008
3% | 2% | 1% | EPAct | Premium IET IE2 | IE3 | IE4
R RE Super Premium o o
HEHE Premium o o (o)
EH&K High Effiency (o) o o
— K o
N

[6) 25 ¥ i
r/min
3000( 2 % ) 1500( 4 & ) 1000( 6 # )
dB(A) Lyl
0.75 78/68 66/56 63/53
125 78/68 66/56 64/54
202 78/68 70/60 70/60
3.7 83/73 72/62 73/63
aib 85/75 75/65 73/63
7.5 85/75 75/65 73/62
11 87/76 77/66 73/62
15 87/76 77/66 77/66
18.5 87/76 80/69 77/66
22 88/77 80/69 77/66
30 88/77 80/69 80/69
37 90/79 83/72 80/69
45 90/79 83/72 80/69
55 92/81 84/73 82/70
75 92/81 85/74 82/70
90 92/81 85/74 83/77
110 93/81 92/80 84/78
132 94/82 93/81 84/78
160 94/82 93/81 85/79
185 96/90 92/80 82/75
200 96/90 92/80 92/85
220 99/92 89/77 92/85
250 100/92 89/77 93/85
280 100/92 93/85 86/77
300 100/92 93/85 89/80
315 100/92 93/85 94/88
b 100/92 99/90 95/88
375 100/92 99/90 95/88
B L, FER L,—sound pressure level
B INERLE L,,,—sound power level

TREEE A 1M,
7F 50HZ BB E T, BEH +3dB

1M away from the motor,
standard rated output at 50Hz,and the tolerance is +3dB

TECOMOTORS,
Website | http://www.tecochina.net AD



&%= Product Code

16

B ¥ 1B 17
OO0 & ¢ ¢

4 56 7 8 9101 12
* 00O HEERE

I— HIERS: 87 . T AT THEE (=)

WMERS: 2 IFERT
DH#: 48T or FHET

¥ 2 e RTE

—

: GB18613-2012,1 HAEF

F
F2. GB18613-2012,2 &R
F3: GB18613-2012,3 &R

o VRIIBMER
V. VRIVEZRE
F. HD. JE: MEEZRZ

VF. U, JU: F=RE
MB: BIEZR% (GB-2)
MV: EZRE (GB-2)
E. £E

[TTTT1T TT]

GB3(IE2)-Model: TEGH/TVGH

A =ABRRRY BRI

Type: AEEFF3/AEVFF3,AEHDF3/AEUJF3,AEJEF3/AEJUF3

TECO

FIrmBuER B EE
GB18613-2012 REZ 1~3 &
R
FAN fEFINE
S01 F A0 448 25 A 7
S1- NSK &
S1F SKF %%
WA7 B G54 BA M = SUS304 )
&
Y02 AU R , AN
YB5 EETE
WU T
-H2 FHRIP A TIA
011 V RIS A (TS RIEn M)
AP— Bt st
AY— AVEREER( - 40C~ —157C )
B02 V RS T AT, B HLFLIRA (Hm )
B11 T mE L AL AE R E R (T BRI ERARAE )
FMI V AV H £ | Tk T i)
FM2 V RS H £ ( mEshis T FE7EA )
VF1 F s SPM IR R4S
YF— BARSHE (TABERE)
Hi FHET: ZRE)
NF— SRR 166(F) , £ 166(F) , BERS R4 (SF1.15)
NF3 SREESE LR 1556(F) , {8 165(F) , T E MRS EE (SF1.1)
NF7 SF1.15 , SKF #47&
S1Y NSK 7K , U EE TS
TH3 P ERFLER ( S48, 220V ), NSK #h7&
TH4 Ml 738 ( 548, 220V ), SKF &
THB B e Fhas ((E4T ) 220V ), EENT &
)= BB FA38 ( B4H , 220V ), #A{RIPEE (145° C)
= Bif e #he8 (B 220V ), 2848 R.T.D (PT100Q/0° C)-3PCS/SET
TK2 Miea$hag ( #4220V, £54H R.T.D ( PT100Q/0° C)-B6PCS/SET
TLB B #PA{E ( PTC160 ) — 3pcs/set, 4B/ T 58
TM5 Mi#aPE{E ( PTC160 ) - Spes/set, 88 ( 848, 220V)
TN- Wi FRpER ( PTC160 ) — Spes/set, B2HLEE ( 84 220V ), 241 R.T.D ( PT100Q/0° C )-3PCS/SET
TRS Mi%e4E R.T.D ( PT100Q/0° C)-3PCS/SET, NSK #i7&
VS- B AR, i RIPEE 145°C
VS2 B4 T4 4, BPTC 160°C, SF1.15
VSB B4 T 4T, BEPTC 160°C
VSD B4 A AR, HiFR1PE8 145°C, SKFHIK
VSF BB EE, HIPTC 160%C, $8/M 5 B
VSH BADTHNE, FHARPS
WA- Bt (BB  DiAKERE)
WA2 BN ( THBI WS DA )
WA B2 ( MBS , TR )

LT mrnE R

GB18613-2012 B3 1~3 4
15-17
s ey
=== | FRAE

SRR
CA- ik
CA1 B WF1 )
CA2 BB WF2
CA3 EBRE
PA3 R A P56
SR- F4A R.T.D (PT100Q/0° C)-2PCS/SET Hai{XiE FH Fré=280)
TH- B e FuEg ( 40, 220V )
TL- Fi#APR{A ( PTC160 ) — 3pes/set
TL2 FH#ABE{R ( PTC160 ) — Bpes/set
TP- B LRIPER (145° C)
TR- Pii42eE R.T.D ( PT100Q/0° C)-3PCS/SET
TR1 4348 R.T.D ( PT100Q/0° C)-6PCS/SET
e e
—H- H s
—1:1 514 1m(T BEEEER ), B fREMBil—_B G, EEET
005 BR ALK
LR
BF- T&E=8
BH- TR
CF- C-Face Flange ( /]vi&22 )
G EEMNA FH ( D Falange ) ——— IM B35
FO1 BHRE
FO2 FEEPX B SUS304 )
-, Vi

Website | http://www.tecochina.net

TECOW
12



ﬁﬁ% Data Sheet

FZ 55 B Zh#1(F Standard Motors)
Type: AEEFF3/AEVFF3(Fr#80M~Fr#250M)

e fa )

OUTPUT

Hp

ik

HE ES
FULL FRAME

LOAD

rimin

NO.

EFF
FULL
LO,

\D

CIENCY

34

LOAD

172

FULL
LOAD | LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR UP DOWN GD? no-load

HEEH
POWER FA

3/4

OR

12

380V 50HZ
GB 18613-2012 GB3 (IE2)

FLITIE e #T Bs =EE
CURRENT TORQUE e

MNOISE aPPROX.
FULL LOcKED FULL LockeD PULL BREAK ROTOR 4

WEIGHT

(A) %FLC kg-m %FLT %FLT %FLT kg-m? dB(A) kg

2865 | 60M | 774 | 758 | 726 | 845 | 775 | 66.0 | 1.74 | 630 |0.253| 225 | 200 | 280 [ 0.005) 78 | 15.0

0.75 1 1425 80M | 796 | 795 | 771 | 745 | 655 | 515 | 1.92 | 690 | 0.512| 330 | 320 | 350 [ 0.011| 66 | 17.0
935 | 90L | 759 | 758 | 735 | 73.0 | 635 | 505 | 206 | 480 |0.776| 170 | 170 | 220 | 0.018] 63 | 215

2845 90L | 813 | 815 | 805 | 900 | 86.0 | /5.5 | 3.11 | 650 |0.510| 220 | 170 | 250 | 0.010| 78 | 220

15 2 1430 | 90L | 828 | 825 | 815 | 820 | 740 | 610 | 3.36 | 715 [ 1.021| 240 | 230 | 300 [0.020| 66 | 240
955 | 100L | 798 | 791 | 773 | 715 | 63.5 | 50.0 | 399 | 550 | 1.520| 165 | 130 | 230 | 0.044| 64 | 350

2840 | 90L | 832 | 840 | 830 | 895 | 850 | /55| 449 | 750 |0.767| 265 | 230 | 300 |0.013| 78 | 245

22 3 1455 | 100L | 843 | 846 | 829 | 790 | 71.0 | 580 | 5.02 | 790 [ 1.497| 215 | 175 | 290 (0.041| 70 | 350
945 | 112M| 818 | 808 | 796 | 755 | 675 | 540 | 541 | 570 | 2304| 205 | 175 | 245 |0.071| 70 | 450

2880 | 112M| 855 | 86.5 | 854 | 90.0 | 87.0 | 79.0 | 7.31 | 855 | 1.250| 240 | 210 | 320 [0.038] 83 | 41.0

3 5 1435 (112M | 863 | 870 | 87.0 | 865 | 830 | 740 | 753 | 830 | 2529 220 | 150 | 290 | 0.076| 72 | 46.0
965 | 1325| 843 | 843 | 828 | 760 | 685 | 550 | 8.78 | 730 |3.761| 180 | 180 | 270 |0.131| 73 | 60.0

202511325 | 870 | 870 | 857 | 855 | 815 | 73.0 | 11.2 | 690 | 1.861| 190 | 145 | 250 | 0.057| 85 | 575

55 7.5 | 1460 | 1325 | 87.7 | 878 | 86.3 | 815 | 750 | 63.0 | 11.7 | 775 | 3.729] 255 | 190 | 320 | 0.113| 75 | 62.0
965 | 132M| 86.0 | 853 | 829 | 720 | 635 | 50.0 | 135 | 690 | 5641| 210 | 160 | 280 |0.171| 73 | 780

2005 )| 132S| 881 | 886 | 876 | 845 | 805 | 71.5 | 153 | 660 | 2499| 190 | 165 | 250 | 0.066| 85 | 68.0

g 10 | 1465 | 132M| 88.7 | 890 | 888 | 855 | 80.5 | 70.0 | 15.0 | 760 |4.955| 230 | 165 | 280 [0.133| 75 | 73.0
960 | 160M| 87.2 | 88.0 | 870 | 815 | 765 | 66.0 | 16.0 | 600 |7.561| 210 | 185 | 225 |0.363| 73 113

2040 | 160M| 894 | 894 | 886 | 915 | 89.0 | 83.0 | 204 | 830 |3.703| 220 | 155 | 270 | 0.154| 87 104

11 15 | 1465 | 160M| 898 | 90.1 | 895 | 885 | 850 | 775 | 21.0 | 730 | 7.432] 205 | 155 | 255 | 0297 77 113
965 | 160L | 88.7 | 89.2 | 886 | 815 | 76.0 | 65.0 | 23.1 | 685 | 11.28| 245 | 230 | 270 | 0.558| 73 130

2025 |1 160M| 90.3 | 903 | 902 | 930 | 915 | 88.0 | 27.1 | 765 |4.963| 230 | 155 | 240 | 0.192] &7 122

15 20 | 1470 | 160L | 906 | 91.3 | 905 | 865 | 825 | 735 | 29.1 | 785 | 9.876| 235 | 185 | 280 | 0.396| 77 130
975 | 180M| 89.7 | 89.7 | 884 | 800 | 740 | 625 | 318 | 760 | 14.89| 265 | 185 | 315 | 1.342) 77 194

20451 160L | 909 | 91.7 | 905 | 925 | 905 | 66.0 | 334 | 880 |6.162| 265 | 175 | 280 | 0.237| 87 135

185 | 25 | 1470 (180M| 91.2 | 920 | 91.0 [ 850 | 825 | 755 | 36.3 | 630 | 1234 180 | 175 | 275 | 0654 80 170
975 | 180L ) 904 | 905 | 910 | 825 | 785 | 69.5 | 37.7 | 710 | 1846| 240 | 200 | 250 | 1.534| 77 220

2045 1 180M| 913 | 915 | 910 | 900 | 88.0 | 825 | 40.7 | 800 |7.394| 220 | 175 | 280 | 0.283| 88 184

22 30 | 1475]1180M| 916 | 91.8 | 91.5 | 840 | 805 | 725 | 434 | 710 | 1476 195 | 150 | 230 [0.712| 80 178
975 | 180L | 909 | 91.0 | 915 | 840 | 820 | 75.0 | 43.8 | 620 | 21.95| 230 | 190 | 260 |1.725) 77 | 229

fmmomns
13

Website | http://www.tecochina.net

%ﬁ% Data Sheet

F & 55 B Zh#L(F Standard Motors)
Type: AEHDF3/AEUJF3(Fr#280S~Fr#315L) GB 18613-2012 GB3 (IE2)

St

OUTPUT

kW

Hp

LS
FULL FRAME FULL

LOAD

r/'min

NO.

EFFICIENCY

3/4

LOAD LOA

112

) LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR

FULL

i
CURRENT

TECO

380V 50HZ

i

TORQUE

ED FULL LockeD PULL BREAK ROTC

kg-m

UP DOWN

s EE

NOISE  APPROX.
WEIGHT
no-load

%FLT %FLT %FLT kg-m? dB(A) kg

2035 | 180L | 920 | 915 | 910 | 875 | 845 | 76.0 | 56.6 | 745 | 9.945]| 240 | 190 | 300 |0.358| 88 198
30 40 | 1475 | 180L ) 923 | 925 | 925 | 840 | 81.0 | 730 | 588 | 725 [ 19.79| 240 | 230 | 290 |1.003| 80 225
975 | 200L | 91.7 | 920 | 915 | 86.0 | 835 | 76,0 | 578 | 615 [29.76]| 175 | 155 | 210 |2442| 80 312
2045 | 200L | 925 | 920 | 915 | 875 | 840 | 76.0 | 695 | 745 |1222]| 180 | 160 | 290 | 1.018| 90 300
ST 50 | 1480 | 200L | 92.7 | 928 | 921 | 870 | 84.0 | 770 | 69.7 | 710 [ 2452| 190 | 160 | 245 |1.649| 83 300
960 | 200L | 922 | 915 | 910 | 84.0 | 805 | 715 | 726 | 640 | 36.74| 210 | 190 | 240 | 3.256| 80 356
2065 | 200L | 929 | 923 | 909 | 905 | 875 | 810 | 813 | 875 | 1469]| 160 | 155 | 320 | 1.074| 90 300
45 60 | 1475| 200L ]| 931 | 933 | 929 | 865 | 835 | 765 | 849 | 690 [2953| 190 | 160 | 270 [1.731]| 83 315
980 | 22558 | 927 | 925 | 920 | 865 | 840 | 770 | 853 | 685 |4468| 200 | 170 | 240 |4.376| 80 419
207012255 | 932 | 934 | 931 | 91.0 | 900 | 855 | 985 | 735 [ 18.33] 135 | 115 | 295 [1211]| 92 380
1480 | 2255 | 935 | 930 | 93.0 | 87.0 | 850 | 81.0 | 103 | 680 | 36.16( 250 | 200 | 250 | 3.186| &4 407
i & 985 | 2508 | 93.1 | 932 | 924 | 815 | 765 | 660 | 110 | 695 | 54.33| 200 | 160 | 260 |6492| 82 553
(985)| 280S | 93.1 | 930 | 924 | 840 | 815 | 73.5 | 107 | 650 |54.41| 150 | 130 | 230 |8.800| 88 650
20651 250S | 938 | 938 | 931 | 88.0 | 855 | 785 | 138 | 745 [2461]| 130 | 110 | 280 [ 1.759| 92 492
1480 | 2505 | 940 | 935 | 93.0 | 885 | 87.0 | 815 | 137 | 680 | 4931 170 | 150 | 250 | 4.853| 85 562
2 i 985 | 250M| 93.7 | 930 | 925 | 845 | 815 | 730 | 144 | 645 | 74.09] 190 | 160 | 240 | 8.175| 82 637
(985)| 280M | 93.7 | 936 | 93.0 | 845 | 820 | 73.5 | 144 | 650 | 74.20| 150 | 130 | 230 | 10.80| 89 700
2970 | 250M | 94.1 | 940 | 93.3 | 88.0 | 855 | 785 | 165 | 815 |29.48| 170 | 140 | 340 |2:199| 92 568
(2965)| 280S | 941 | 940 | 933 | 900 | 89.0 | 845 | 161 | 700 |2958| 160 | 140 | 250 |2.400| 92 590
90 125 | 1480 | 250M| 94.2 | 935 | 93.0 | 88.0 | 860 | 795 | 165 | 755 | 59.17| 190 | 150 | 240 | 5393| 85 608
(1480)) 280S | 942 | 941 | 934 | 875 | 86.0 | 80.0 | 166 | 690 | 59.26| 160 | 140 | 250 | 6400 9N 650
985 | 3155 | 940 | 940 | 930 | 850 | 825 | 745 | 171 | 650 | 89.04| 160 | 135 | 220 [ 13.50| &3 900
2070 | 280M| 943 | 942 | 932 | 905 | 89.0 | 840 | 196 | 680 |36.09] 150 | 130 | 250 |[2.500| 93 700
110 | 150 | 1485 | 280M| 945 | 945 | 935 | 875 | 855 | 79.0 | 202 | 650 | 72.18| 150 | 130 | 250 | 7.500( 92 720
985 | 315M| 943 | 943 | 932 | 845 | 815 | 73.0 | 210 | 650 | 108.8] 160 | 135 | 230 [ 13.00| 84 950
2970 |1 3165 | 946 | 946 | 935 | 90.0 | 88.0 | 83.5 | 236 | 670 [43.31] 130 | 115 | 230 [ 4500 94 900
132 | 175 | 1485 | 3155 | 94.7 | 946 | 935 | 875 | 86.0 | 81.0 | 242 | 650 | 86.62| 150 | 130 | 230 | 10.50( 93 900
985 | 315M| 946 | 945 | 935 | 85.0 | 83.0 | 76.0 | 249 | 650 | 130.6| 160 | 135 | 230 [19.00| 84 | 1,000
2970 | 315M | 948 | 948 | 940 | 90.0 | 895 | 845 | 285 | 670 | 5250| 150 | 130 | 230 | 5500 94 | 1,000
160 | 215 | 1485 | 315M| 949 | 948 | 940 | 875 | 858 | 79.0 | 293 | 685 | 105.0| 150 | 130 | 230 | 12.00( 93 | 1,100
988 | 315L | 948 | 948 | 940 | 848 | 825 | V5.0 | 302 | 650 | 157.6] 135 | 115 | 230 | 2250| 85 |1,250
2970 | 315M | 950 | 950 | 942 | 90.0 | 89.0 | 842 | 329 | 710 | 60.70| 150 | 130 | 250 | B.000| 96 |1,150
185 | 250 | 1485 | 315M| 951 | 951 | 942 | 88.0 | 862 | 795 | 336 | 700 | 1214 160 | 140 | 250 | 1960( 92 |1,150
0988 | 315A| 950 | 950 | 942 | 85.0 | 820 | 742 | 348 | 680 | 1825 180 | 160 | 260 [31.20| 82 | 1,450

Website | http://www.tecochina.net

Tecommoy
14



ﬁﬂi% Data Sheet

FZ 55 B Zh#1(F Standard Motors)
Model: AEJEF3/AEJUF3(Fr#315A~Fr#400A) GB 18613-2012 GB3 (IE2)

HEE
POWER FA

e

pram

wiE ES

QUTPUT

FULL FRAME

LOAD
Hp

NO.

FULL

FULL
LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR

34

CURRENT

OR

1/2  FULL LockeD FULL LockeD PULL BREAK ROTOR

¥iE
TORQUE

UP DOWN

%
wE

T WA

380V 50HZ

WEIGHT
no-load

r/min (o) %FLC kg-m %FLT %FLT %FLT kg
2970 | 315L | 950 | 950 | 941 | 910 | 905 | 885 | 351 | 690 |65.62| 130 | 115 | 230 |6.400| 96 | 1,200
200 | 270 | 1485 | 315L| 951 | 950 | 942 | 885 | 865 | 81.0 | 361 | 680 | 131.2| 150 | 130 | 240 | 1440| 92 |1,200
985 |315C| 95.0 | 950 | 941 | 865 | 840 | 785 | 370 | 650 | 197.3| 150 | 130 | 240 (4080| 92 |1,700
2975 | 315A | 950 | 950 | 94.1 | 912 | 905 | 88.8 | 386 | 700 |72.10| 135 | 120 | 240 [8.800| 99 | 1,400
220 | 300 | 1485 | 315A| 951 | 950 | 942 | 890 | 87.0 | 815 | 395 | 145 | 1444| 145 | 130 | 240 |2040| 89 | 1,450
988 | 315C | 95.0 | 950 | 94.1 | 86.5 | 845 | 79.0 | 407 | 150 | 217.0| 150 [ 130 | 240 [4320| 92 | 1,800
2975 | 315C | 950 | 950 | 941 | 915 | 900 | 875 | 437 | 720 | 81.89| 130 | 115 | 240 |10.00| 100 | 1,650
1485 | 315C| 951 | 951 | 943 | 900 | 885 | 845 | 444 | 720 | 164.1| 150 | 130 | 240 | 26.00| 89 |1,750
e 088 | 315D | 95.0 | 950 | 941 | 86.0 | 850 | 785 | 465 | 680 |246.6| 150 | 130 | 240 (4400| 93 | 1,900
(990) | 355A | 950 | 950 | 94.1 | 880 | 87.0 | 835 | 454 | 680 |2466| 110 | 115 | 230 |61.20| 86 |2,080
2975 | 315D | 950 | 949 | 941 | 915 | 910 | 890 | 489 | 710 | 917 | 130 | 115 | 240 |11.20| 100 |1,830
280 | 375 | 1485 | 315D | 951 | 951 | 943 | 905 | B95 | 865 | 494 | 690 | 183.7| 180 | 160 | 240 | 3040| 93 |1,930
(1488)| 355A | 950 | 950 | 942 | 875 | B6.0 | 805 | 512 | 660 | 2762| 130 | 140 | 240 | 68.80| 86 |2,150
2975 | 315D | 950 | 949 | 941 | 920 | 915 | 900 | 522 | 700 |521.5| 130 | 115 | 240 |12.80| 100 |1,860
300 | 402 | 1482 | 315D | 951 | 951 | 943 | 905 | 900 | 87.0 | 530 | 690 |197.3| 170 | 150 | 230 |3040| 93 | 1,960
088 | 355A | 950 | 950 | 942 | 885 | 880 | 840 | 542 | 660 |2959| 110 | 115 | 220 (61.20| 89 |2,460
29751 315D | 950 | 950 | 943 | 91.0 | 90.0 | 87.0 | 554 | 710 | 103.2| 130 | 115 | 230 | 11.50| 100 | 1,900
(2978)| 355A | 950 | 950 | 944 | 920 | 915 | 905 | 548 | 700 |103.1| 120 | 128 | 250 | 16.00| 100 | 2,000
315 | 422 | 1485 | 315D 951 | 951 | 944 | 905 | 895 | 86.0 | 556 | 700 |206.7| 150 | 130 | 230 | 33.00f] 93 |2,000
(1485)| 355A | 951 | 951 | 944 | 910 | 905 | 885 | 553 | 700 (2067 | 120 | 128 | 230 |4240| 99 |2,100
988 | 355C | 950 | 950 | 943 | 895 | 888 | 840 | 563 | 660 |310.7| 115 | 120 | 230 |68.80| 94 |2,600
2975 | 355C | 950 | 950 | 944 | 915 | 910 | 900 | 620 | 700 |116.3| 120 | 122 | 240 |16.00| 100 |2,500
355 | 475 | 1488 | 355C | 951 | 951 | 944 | 915 | 910 | 890 | 620 | 680 |2325| 115 | 120 | 230 |4920| 99 |2,500
988 | 400DA | 95.0 | 950 | 944 | 900 | 895 | 86.5 | 631 | 670 | 350.1| 115 | 120 | 230 [9360| 95 | 3,000
2975 | 355C | 950 | 950 | 945 | 918 | 915 | 905 | 653 | 700 |122.8| 100 | 104 | 240 |1640| 100 |2,600
375 | 503 | 1488 | 355C | 951 | 951 | 945 | 915 | 91.0 | 89.0 | 655 | 680 |2456| 120 | 128 | 230 |4920| 99 |2,600
988 | 4D0DA | 95.0 | 950 | 945 | 900 | 895 | 87.0 | 666 | 660 |369.9| 110 | 115 | 230 |9360| 95 |3,100

. 1. 8B “GBIT 1032 methed B,IEC60034-2—-1:2007
2. HEREWRIE: GB755,IEC 60034-1,
3. BRMBERRL.
4. FEARAEL GB-18613-2012 HA,

5. FEMA A VHUETIRBHE L,,(0B) (IC411 RF=IAME

BRI R L,/ BIESE P10,
6. HLES () ARERILES, RITU RS BFILEHER.
7. R EE A ATEAL

‘QCOMOTORS
15

Note: 1. The above are typical values based on test according to GB/T 1032

method B, IEC 60034-2-1 : 2007,

2. Tolerance according to GB 755, |EC 600341,
3. Efficiency, power factor, speed and torque are the same for other

voltages. Current values vary inversely with voltage.
4. Eff-Grade; GB-18613-2012,

5.NOISE refer to P10,
6. )as a special frame size, TECO can for the system, but not first priority,

7.Data subject to change without notice.

Website | http://www.tecochina.net

Z&EH3: IMB3 (IM1001)

Flag.1

4-#K HOLES

DH TAP

$KE HOL

= 'ﬁ;!_

]
4-¢x noLEs _L

Flg. 2

v
DH Tap/l #D

i{l\_i . mm
it HLEES
Output (kW) FRAME | FIG | Ao  aa
2P 4P 6P SIZE NO.
075 | 0.75 — a0m 125 1 355 | 155 | 177 | 144 | 112 | 100 | 130 50 80 90 | 168 - 55
;g 15 | 0.75 90L 1 140 | 355 | 170 | 200 | 157 | 125 | 125 | 150 56 90 10.0 | 190 = 65
— 22 5 100L 160 45 195 | 219 | 180 | 145 | 140 | 175 63 100 | 125 — 243 Th]
3T 37 2 112M 3 190 45 224 | 238 | 189 | 154 | 140 | 1175 70 112 | 140 - 265 83
?g 5.5 3T 1325 216 45 250 | 273 | 225 | 180 | 140 | 175 89 132 | 16.0 - 310 83
— 75 5.5 132M 216 45 250 | 273 | 225 | 180 | 178 | 212 89 132 | 16.0 . 310 83
i R
HES SHAFT EXTENSION BEARNG
FRAME
SIZE IRBhin AEIRBhiR
B]= NDE
80M ¢ 10 $22 282.0 92.0 19 40 251 6 5.5 215 M6x12 620422 620427
90L ¢ 10 22 3325 101.5 24 50 32 8 20.0 27.0 M8x16 620527 6205727
100L @12 ¢ 28 3745 1415 28 60 40 8 24.0 31.0 M10x%20 620622 6206227
112M 12 $28 391.0 121.0 28 60 40 8 24.0 31.0 M10%20 630622 6306ZZ
1325 @12 ¢35 454.0 145.0 38 80 64 10 33.0 41.0 M12x24 6308ZZ 6306ZZ
132M 12 ¢35 492.0 145.0 38 80 64 10 33.0 41.0 M12x24 6308ZZ 630627
1. HR D /AZ, 019-028:6,038:k6 Note: 1.Tolerance of Shaft End Diamter D:@19~228:j6,038:k6.

2. @ : +0,-0.5

3. REBH RS IR T B Rm BT R, B
1E RSP N BF TR R

2.Tolerance of Shaft Center Height H:+0,-0.5.
3.Install the coupling and pulley please use tapping into a forced into the
shaft end, tapping shaft end installed by external force is prohibited.

Website | http://www.tecochina.net

TECOMOTOy
16



M2 & Outline
INERZERRTHE

AD

LE

Flg.3

exx wore/ | 1]/ ae

- HoLEg/|

Z&%H3: IMB3 (IM 1001 )

AD

AC

113

4—¢PK HOLES

AD

LE

Fl1G. 4

it HLEES

Output (kW) FRAME

2P | 4P 6P  SIZE
| M| 75| 160m . 254 | 50 | 300 | 334 | 263 | 218 | 210 | 250 | 108 | 160 | 18 | 377 | 108
185| 15 | 11 160L 254 | 50 | 300 | 334 | 263 | 218 | 254 | 300 | 108 | 160 | 18 | 377 | 108
22 | — | — | 180mA 4 279 | 75 | 355 | 382 | 305 | 250 | 241 | 207 | 121 | 180 | 22 | 431 | 119
~ [ 52| 15| 180mC 3 279 | 75 | 355 | 382 | 305 | 250 | 241 | 207 | 121 | 180 | 22 | 431 | 119
30| — | — | 180LA 4 279 | 75 | 355 | 382 | 305 | 250 | 279 | 335 | 121 | 180 | 22 | 431 | 119
- [ 30| 5’| 180c 3 279 | 75 | 355 | 382 | 305 | 250 | 279 | 335 | 121 | 180 | 22 | 431 | 119
2l =1 = | cooa 4 318 | 80 | 400 | 458 | 362 | 299 | 305 | 365 | 133 | 200 | 25 | 499 | 129
| T | 2] 200c 3 318 | 80 | 400 | 458 | 362 | 299 | 305 | 365 | 133 | 200 | 25 | 499 | 129
55 | — | — | 2258A 4 356 | 100 | 450 | 510 | 411 | 337 | 286 | 350 | 149 | 225 | 30 | 550 | 153
— | 55 | 45 | 2258¢C 3 356 | 100 | 450 | 510 | 411 | 337 | 286 | 350 | 149 | 225 | 30 | 550 | 153

i i
SHAFT EXTENSION BEARING

IR EhiH IR T
ED G GA IJIZSfF]EJm 3E?E|;|J5m
160M | ¢145 | ¢35 | 608.0 | 180.0 | 42 | 110 | 80 | 12 | 37.0 | 450 | M16x32 | 63092Z 630722
160L | ¢145 | ¢35 | 6520 | 180.0 | 42 | 110 | 80 | 12 [ 37.0 | 450 | M16x32 | 630922 630722
180MA | ¢145 | ¢52 | 6720 | 2000 | 48 | 110 | 80 | 14 | 425 | 515 | M16x32 | 631122C3 | 63102ZC3
180MC | ¢145 | ¢52 | 6720 | 2000 | 48 | 110 | 80 | 14 | 425 | 515 | M16x32 | 63112z 631022
180LA | ¢145 | ¢52 | 7100 | 2000 | 55 [ 110 | 80 | 16 | 49.0 | 59.0 | M20x40 | 6312zzC3 | 6310ZZC3
180LC | ¢145 | ¢52 | 710.0 | 2000 | 55 [ 110 | 80 | 16 | 49.0 | 59.0 | M20x40 | 6312zZ 631022
200LA | ¢185 | ¢65 | 7745 | 2265 | 55 | 110 | 80 | 16 | 49.0 | 59.0 | M20x40 | 63122ZC3 | 62122ZC3
200LC | ¢185 | ¢65 | 8045 | 2265 | 60 | 140 | 110 | 18 | 53.0 | 64.0 | M20x40 | 631427 621227
2255A | ¢185 | ¢92 | 786.0 | 241.0 | 55 | 110 | 80 | 16 | 49.0 | 59.0 | M20x40 | 63122ZC3 | 62122ZC3
2255C | ¢185 | ¢92 | 816.0 | 241.0 | 65 | 140 | 110 | 18 | 58.0 | 69.0 | M20x40 | 63152Z 621322

1. 33 D AE. 042~048:k6,055~065:M6
2. i@ H, +0,-0.5
3. R HhER R T A IR BT EEHE A,
EFRUSMh BT IR R

‘QCOMOTORS
17

2.Tolerance of Shaft Center Height H:+0,-0.5.
3.Install the coupling and pulley please use tapping into a forced into the
shaft end, tapping shaft end installed by external force is prohibited,

Website | http://www.tecochina.net

Note: 1.Tolerance of Shaft End Diamter D:e42~048:k6,055~066:m6

Fl1a.6

AC

HD

AD

AC

I’u*-
TECO
3 H{Q
1+ .
) :. T L -vx "“‘/f - :u LA-|

Uit HLEES
Output (kW) FRAME
2P 4P 6P SIZE
7453 - - 2505A 406 | 110 | 500 | 545 | 499 | 384 | 311 | 385 | 168 | 250 32 612 | 139
- 74 55 250sC 406 | 110 | 500 | 545 | 499 | 384 | 311 | 385 | 168 | 250 32 612 | 139
90 - — 250MA 406 | 110 | 500 | 545 | 499 | 384 | 349 | 425 | 168 | 250 32 612 | 139
= 90 75 250MC 406 | 110 | 500 | 545 | 499 | 384 | 349 | 425 | 168 | 250 32 612 | 139
ey TIPS
SHAFT EXTENSION BEARING
5 3EHNESJJEm
250SA 24 92 852.5 263.5 55 110 80 16 49.0 59.0 M20x40 6313C3 6313C3
250SC | ¢24 | ¢92 | 8825 | 2635 | 75 | 140 | 110 | 20 | 675 | 795 | mM20x40 | NU316 6313
250MA 24 h 92 890.5 263.5 55 110 80 16 49.0 59.0 M20x40 6313C3 6313C3
250MC 24 k92 920.5 263.5 75 140 110 20 67.5 79.5 M20x40 NU316 6313

#F:1. #WED A%, 055~075:m6
2. 7@ H: +0,-0.5
3. REBMBNEWRIET BHIREEFEHEBEAN,
B F DISMh B TSR R,

Note: 1.Tolerance of Shaft End Diamter D:@55~875:m6
2.Tolerance of Shaft Center Height H:+0,-0.5.
3.Install the coupling and pulley please use tapping into a forced into the

shaft end, tapping shaft end installed by external force is prohibited,

Website | http://www.tecochina.net

TECOMOTDy
18



M2 & Outline
INERZERRTHE

Z&%H3: IMB3 (IM 1001 ) Z&EHI: IMB3 (IM 1001)

L AC L
AD L AF
. r
: A
— EE
.—-—‘*—-—.
i \ ED g
-1 F T —I— =1 - —_ g S i
E. T, ; ﬂ_
;
B B | I
! ] A! KK 4LE
e s e ) KK '"HOLE
BB o q
2 DH_TAP |
D
DOH TAP
BA7. mm BfA7. mm
i HES i
Output (kW) FRAME Output (kW)
2P 4P 6P SIZE 2p 4P 6P
S - il =i (B i) foilta B ) B e ot B IR 8 B i (B e | B [t T 220 | - : 315A 508 | 150 | 650 | 730 | 666 | 511 | 560 | 180 | 730 | 216 | 315 | 45 | 874 | 469 | 28
- | 90 | 55 280S 457 | 110 | 560 | 603 | 600 | 445 | 293 | 368 | 110 | 445 | 190 [ 280 | 30 [ 651 | 82
e - o PP (Bog] Bl e o =g [ Mo Rseotl Bl sl s el el ey - | 220 185 315A | 508 | 150 | 650 | 730 | 666 | 511 | 560 | 180 | 730 | 216 | 315 | 45 | 874 | 469 | 28
- 110 75 280M 457 | 110 | 560 | 603 | 600 | 445 | 203 | 419 | 130 [ 495 | 190 [ 280 | 30 [ 651 | 82 250 | - - 315C 508 | 150 | 650 | 730 | 666 | 511 | 710 | 180 | 880 | 216 | 315 | 45 | 874 | 469 | 28
132 | - i 3155 508 | 115 | 615 | 625 | 610 | 455 | 305 | 406 | 115 | 490 | 216 | 315 | 40 | 743 | o7 250 [20]  aisc b Pl e el 1 e Pen e e e
- 132 e 3155 508 | 115 | 615 | 625 | 610 | 455 | 305 | 406 | 115 | 490 | 216 | 315 | 40 | 743 | o7
— 315 | - g 315D 508 | 150 | 650 | 730 | 666 | 511 | 910 | 180 | 1080 | 216 | 315 | 45 | 874 | 469 | 28
T - - 315M 508 | 115 | 615 | 625 | 610 | 455 | 305 | 457 | 115 | 540 | 216 | 315 | 40 | 743 | o7
N ]| el 315M 508 | 115 | 615 | 625 | 610 | 455 | 305 | 457 | 115 | 540 | 216 | 315 | 40 | 743 | 97 - 315 | 250 315D 508 | 150 | 650 | 730 | 666 | 511 | 910 | 180 | 1080| 216 | 315 | 45 | 874 | 469 | 28
200 | - - 31501 508 | 115 | 615 | 625 | 610 | 455 | 305 | 584 | 210 | 710 | 216 | 315 | 40 | 743 | o7 A i R
~ | 200 | 160 31501 508 | 115 | 615 | 625 | 610 | 455 | 305 | 584 | 210 | 710 | 216 | 315 | 40 | 743 | o7 NES SHAFT EXTENSION BEARNG
o i ihR FRAME e T
HLES SHAFT EXTENSION BEARNG Iwzhin  AFBKENIR
FRAME SIZE DE NDE
_ e e Ezhis | BN
S DE NDE 315A M63X1.5 | 1376 | 460 | 70 | 140 | 110 | 134 | 20 | 625 | 745 | M20X40 | 6315C3 6315C3
280S 24 | Me3x15 |10415|3435| 65 | 140 | 110 | 134 | 18 | 58 | 69 | M20x40 6314C3 6314C3
315A | Me3x15 | 1326 | 380 | 95 | 170 | 140 | 157 | 25 | 86 | 100 | m24xas 6320 6320
2805 24 | wme3x15 |10715(3435 80 | 170 | 140 | 157 [ 22 | 71 | 85 | m2ox40 6318 6316
M 5t T weacts | ion I 31 e: 1oue Fanhaasl sl sa T sl feoko Biliin e 315C | Me3x15 | 1526 | 460 | 70 | 140 | 110 | 134 | 20 | 625 | 745 | Mm20xd0 | 6315€3 | 6315C3
280M 24 | me3x15 | 1122 | 343 | 80 | 170 | 140 | 157 | 22 | 71 | 85 | m20ox40 6318 6316 315C | Me3x1.5 | 1476 | 380 | 95 | 170 | 140 | 157 | 25 | 8 | 100 | m2ax48 | 6320 6320
Shi GO L | B O [ TG SR A (i i W B ) Rt ity fatied 315D | Me3x15 | 1726 | 460 | 70 | 140 | 110 | 134 | 20 | 625 | 745 | m2oxd0 | 63153 | 6315C3
3155 28 | me3x15 | 1161 | 360 | 85 | 170 | 140 | 157 | 22 | 76 | 90 | m2ox40 6320 6316
; 1
315M 28 | me3x15 | 1182 | 369 | 65 | 140 | 110 | 134 | 18 | 58 | 69 | M20x40 6314C3 6314C3 SIS | EMaR e N TeTo et a e Bl SOOI IR I 6 CoTljENxes ) st 6320
315M 28 | me3x15 | 1212 | 360 | 85 | 170 | 140 | 157 | 22 | 76 | 90 | m2ox40 6320 6316 1 82D A% mé Note: 1. Tolerance of Shaft End Diarriter D:ri6
3151 28 | wme3x15 | 1309 | 369 | 65 | 140 | 110 | 134 | 18 | 58 | 69 | m2ox40 6314C3 6314C3 2. PLEH: +0,-1 2.Tolerance of Shaft Center Height H:+0,~1.
3, <. EE :
3151 28 | M63x15 | 1339 | 369 | 85 | 170 | 140 | 157 | 22 | 76 | 90 | m2ox40 6320 6316 TR 3.Usable Shait Length:EE
4. BREER 4.For Direct Flexible Coupling

2. i@ H: +0,-1
3. oIt EE
4. EREMEE

5. RILHAhaS R H R T MR BT ERBA,
Bk BUSM BTS2

‘QCOMOTORS
19

Website | http://www.tecochina.net

Note: 1.Tolerance of Shaft End Diamter D:m6
2 Tolerance of Shaft Center Height H:+0,—1.
3.Usable Shaft Length:EE
4.For Direct Flexible Coupling
5.Install the coupling and pulley please use tapping into a forced into the
shaft end, tapping shaft end installed by external force is prohibited,

6. RIERHIER SR R AMRBETEHBA,
Bk BN B THIR S

Website | http://www.tecochina.net

5.Install the coupling and pulley please use tapping into a forced into the
shaft end, tapping shaft end installed by external force is prohibited,

TECOMOTDy
20



M2 & Outline
INERZERRTHE

it
Output (kW)

Z&%H3: IMB3 (IM 1001 )

KK HOLE

GA

DH

HD

TAP

Z&EHI: V1 (IM3011)

FIGA

BAL

LB

LD

LA

i HES
Output (kW)

2P 4P | 6P

FRAME FIG.

SIZE NO.

dac /!_I._I.J-_lc
=l |
e )| (& -
'l ~ )
I ‘ 5 ANEDR
L) |
"1_1
jg F
T
7 My v s
EI | —;
¢N .

33 b Tap/] @D

315 - - 355A 610 | 150 | 750 | 810 | 762 | 607 | 710 | 210 | 930 | 254 | 355 45 997 | 504 28
- 315 | 300 355A 610 | 150 | 750 | 810 | 762 | 607 | 710 | 210 | 930 | 254 | 355 45 997 | 504 28
375 - - 355C 610 | 150 | 750 | 810 | 762 | 607 | 900 | 210 | 1120| 254 | 355 45 997 | 504 28
- 375 | 315 355C 610 | 150 | 750 | 810 | 762 | 607 | 900 | 210 | 1120 | 254 | 355 45 997 | 504 28
- - 375 400A 686 | 150 | 810 | 860 | 774 | 619 | 800 | 245 | 1060 | 280 | 400 40 | 1062 | 569 35
SHAFT ﬁEﬁENSION BE;EEF?;Y[NG
= | =l & sgggm apijsgém
355A MB3X1.5 1854 750 70 140 110 134 20 62.5 74.5 M20X40 6315C3 6315C3
355A MB3X1.5 1749 615 95 170 140 157 25 86 100 M24X48 6322 6320
355C MB3X1.5 2044 750 70 140 110 134 20 62.5 74.5 M20X40 6315C3 6315C3
355C M63X1.5 1939 615 95 170 140 157 25 86 100 M24X48 6322 6320
400A MB3X1.5 1925 635 110 210 160 197 28 100 116 M24X48 6324 6320

C-flange £=R~F %

D-flange iA= R~

HES
FRAME
SIZE
80 100 80 120 M6 % T %0 12
100 215 180 250 145
90 115 95 140 me 112 215 180 250 145
132 265 230 300 145
100 130 110 160 M8 160 300 250 350 185
180 300 250 350 185
112 130 110 160 M8 200 350 300 400 18.5
225 400 350 450 185
132 165 130 200 M10 250 500 450 550 185
280 500 450 550 185
160 215 180 250 M12 315 600 550 660 ch
355 740 680 24

#: 1L HWEDAE: mé
2. B H: +0,-1
3. sk EE
4. HIEMEE
5. feBihes SR IR FARR T EiE
SN EITHIR R %

‘QCOMOTORS
21

o BBl

Note: 1.Tolerance of Shaft End Diamter D:m6
2.Tolerance of Shaft Center Height H:+0,—1.

0.75]| 075 | — 80 1 177 | 144 | 112 - 22 |282.00 12 |242.0| 60 | 165 | 130 | 200 | 120 | 3.5
;g 15 | 0.75 90L 2 200 | 157 | 125 - 22 |371.5] 12 |321.5) 113 | 165 | 130 | 200 | 12.0 | 3.5
= 22 | 15 100L 1 219 | 180 | 145 | 140 | 28 |374.5| 16 |314.5| 88 | 215 | 180 | 250 | 145 | 4.0
37| 3t | 22 112M 2 238 | 189 | 154 | 150 | 28 |431.0f{ 16 |371.0f 135 | 215 | 180 | 250 | 145 | 4.0
g: 55 | 3.7 1328 - 273 | 224 | 180 | 169 | 35 [454.0] 20 |374.0| 97 | 265 | 230 | 300 | 145 | 4.0
= 75 | 55 132M 273 | 224 | 180 | 169 | 35 [492.0f 20 |412.0| 116 | 265 | 230 | 300 | 145 | 4.0

S R
SHAFT EXTENSION BEARING
I zZhis E| ey F
DE NDE

80 19 40 25 6 15.5 21.5 Mex12 620427 620422
90L 24 50 32 8 20.0 27.0 M8x16 6205272 6205272
100L 28 60 40 8 24.0 31.0 M10x20 620622 62062Z
112M 28 60 40 8 240 31.0 M10=20 6306ZZ 6306ZZ
1328 38 80 64 10 33.0 41.0 M12x24 630822 6306272
132M 38 80 64 10 33.0 41.0 M12x24 630822 630622

SE.1.HE D A%, 019~028:6,038:k6
2.3|SNAZE. |6
3. HLES. 807 90L WAFH

4. TA B R A AR B E#B A,

BF BN BATHR R

Note: 1.Tolerance of Shaft End Diamter @19~228:i6,838:k6
2. Tolerance of N:j6
3.There is No HOOK on Frame Size 80 and 90L.
4.Install the coupling and pulley please use tapping into a forced into the
shaft end, tapping shaft end installed by external force is prohibited,

3.Usable Shaft Length:EE

4.For Direct Flexible Coupling

5.Install the coupling and pulley please use tapping into
a forced into the shaft end, tapping shaft end installed
by external force is prohibited,

Website | http://www.tecochina.net

Website | http://www.tecochina.net

TECOMOTDy
22



bz B Outline

SRR RTE

FIG.3

R#&=H: V1 (IM3011)

FIGA4

Z&EHI: V1 (IM3011)

FIG.5

B

Output (kW)

2P 4P

6P

S
FRAME

SIZE

FIG.6

pAc
|
NETEEEETY'
-
[ -
-
a
-
S -
"
BN
Y
EK Hele
L
j 2
r
3 2 T
-t ol 5
! PR Taaf #D

o S
Output (kW) FRAME
2P 4P 6P SIZE
Wl 1| 75| 1e0m 334 | 263 | 218 | 217 | 35 | 608 | 20 | 498 |151.0| 300 | 250 | 350 | 18.5
185| 15 | 11 160L 334 | 263 | 218 | 217 | 35 | 652 | 20 | 542 |173.0| 300 | 250 | 350 | 185
22 [ — | — | 180mA 382 | 305 | 250 | 241 | 52 | 672 | 20 | 562 |170.5| 350 | 300 | 400 | 185
~ | 52 15 | 180mC 382 | 305 | 250 | 241 | 52 | 672 | 20 | 562 |170.5| 350 | 300 | 400 | 185
a0 |1 = 180LA 382 | 305 | 250 | 241 | 52 | 710 | 20 | 600 |189.5| 350 | 300 | 400 | 185
~ |30 | 5| 1s0Lc 382 | 305 | 250 | 241 | 52 | 710 | 20 | 600 [189.5| 350 | 300 | 400 | 18.5
i K
SHAFT EXTENSION BEARNG
C Ik JEBE BN
DE NDE
160M 42 110 80 12 37.0 45.0 M16x32 630922 630722
160L 42 110 80 12 37.0 45.0 M16x32 630922 630722
180MA 48 110 80 14 425 515 M16x32 631122C3 631022C3
180MC 48 110 80 14 425 515 M16x32 631122 631022
180LA 55 110 80 16 49.0 59.0 M20x40 631222C3 631022C3
180LC 55 110 80 16 49.0 59.0 M20x40 631222 631022

3.1 4R D A%, 042~048:k6 055~065:M6

2.53|FNLE: 6

3. RigEHhIE N H RIS T AR ERHE A,

FIEBUSNMIBATHIE R,

‘QCOMOTORS
23

Note:1. Tolerance of Shaft End Diamter D: 42~048:k6 @55~065:m6
2. Tolerance of N:j6
3. Install the coupling and pulley please use tapping into a forced into the

shaft end, tapping shaft end installed by external force is prohibited,

Website | http://www.tecochina.net

i - — 200LA 458 | 362 | 299 | 286.0] 65 |774.5| 20 |664.5]194.5| 400 | 350 | 450 | 18.5 5
= | &1 & | zonoe 458 | 362 | 299 |286.0| 65 [804.5| 20 |664.5|194.5| 400 | 350 | 450 | 185 | 5
55 - - 2258A 510 | 411 | 337 |312.0f 92 |786.0f 22 |676.0|190.0/ 500 | 450 | 550 | 18.5 9
- 55 45 2258C 510 | 411 | 337 |312.0| 92 |816.0/ 22 |676.0/190.0| 500 | 450 | 550 | 185 | 5
75 — = 250SA 545 | 499 | 384 |329.5| 92 |8825| 22 |7425|1825| 500 | 450 | 550 | 185 | 5
- 75 55 250SC 545 | 499 | 384 |329.5| 92 |8825| 22 |742.5|182.5| 500 | 450 | 550 | 185 | 5
20 — — 250MA 545 | 499 | 384 |329.5| 92 |890.5| 22 |780.5|201.5| 500 | 450 | 550 | 18.5 iy
— 90 75 250MC 545 | 499 | 384 |329.5| 92 |920.5| 22 |780.5|201.5| 500 | 450 | 550 | 18.5 5
i s K
53 SHAFT EXTENSION BEARING
FRAME _ e
& B JIRHLH
SIZE DE NDE
200LA b5 110 80 16 49.0 59.0 M20x40 6312ZZC3 6212ZZC3
200LC 60 140 110 18 53.0 64.0 M20x40 631427 6212272
2258A DD 110 80 16 49.0 59.0 M20x40 6312ZZC3 6212ZZC3
2258C 65 140 110 18 58.0 69.0 M20x40 6315272 621322
250SA 55 110 80 16 49.0 59.0 M20x40 6313C3 6313C3
2508C 75 140 110 20 67.5 79.5 M20x%40 NU316 6313
250MA 55 110 80 16 49.0 59.0 M20x40 6313C3 6313C3
250MC 75 140 110 20 67.5 79.5 M20x40 NU316 6313
E:1. WED AE: 055~075:m6 Note:1. Tolerance of Shaft End Diamter D:e55~@75:m6
2.5|FNLQE: 6 2. Tolerance of N:j6
3. REF I L HR T FHHRECT EHEA, 3. Install the coupling and pulley please use tapping into a forced into the
FIEDISN BT RIR R4 shaft end, tapping shaft end installed by external force is prohibited,

Website | http://www.tecochina.net

TECOMOTDy
24




M2 & Outline
INERZERRTHE

HB ___HB

‘Jﬁ]‘ Hj U[. nis .,E'?
Output (kW) FRAME

4P 6P SIZE

R#&=H: V1 (IM3011)

KK
NON DRIVE END
QRIP EXTENSION OF ™~ i
GEEASE DISCHARGER g
4 Y o
t'.l
DRIVE END o % ﬂ‘
GRIP EXTENSION OF
CEEASE DISCHARGCER A ‘p
J Y -
- —
W B b
=
.l
& B8~S
UL 1
y ~N—T
ol+- R o
b DH TAP
DIMENSIONS IN MM %ﬁ—L mm

HLES

FRAME
SIZE

90| - | - 280S | 569 | 600 | 445 | 322 | 1042| 22 | 902 |126.5| 500 | 450 | 550 | 19 5 | 490 | 490
- | 90 | 55 | 280s | 569 | 600 | 445 | 322 | 1072| 22 | 902 [126.5| 500 | 450 | 550 | 19 5 | 480 | 497
0| - | - 280M | 569 | 600 | 445 | 322 [1092| 22 | 952 | 152 | 500 | 450 | 550 [ 19 5 | 490 | 490
- | 10| 75 | 280M | 569 | 600 | 445 | 322 | 1122| 22 | 952 | 152 | 500 | 450 | 550 | 19 5 | 480 | 497
32| - | - 3155 | 610 | 610 | 455 | 339 | 1131| 25 | 991 | 171 | 600 | 550 | 660 | 24 6 | 550 | 550
- | 132 | 90 | 3155 | 610 | 610 | 455 | 339 [ 1161| 25 | 991 [ 171 | 600 | 550 | 660 | 24 6 | 525 | 540
TR | - | s15m [ 610 610 45 | 330 [1182| 25 |1042] 1965|600 | 550 | 660 | 24 6 | s50 | 550
- | os | 132 | 315M [ 610 | 610 | 455 | 339 [1212| 25 | 1042{196.5|600 | 550 | 660 | 24 6 | 525 | 540
200 - | - 315L | 610 | 610 | 455 | 339 | 1360| 25 | 1042| 260 | 600 | 550 | 660 | 24 6 | 550 | 550
- | 200 | 160 | 315L | 610 | 610 | 455 | 339 | 1390| 25 | 1042| 260 | 600 | 550 | 660 | 24 & | 525 | 540

ik s
SHAFT EXTENSION BEARNG
IR B eI EhiR
DE NDE

== F G

2808 M63X1.5 65 140 110 134 18 58 69 M20X40 6314C3 6314C3
2808 ME3X1.5 80 170 140 157 22 71 85 M20X40 NU318C3 6316
280M M63X1.5 65 140 110 134 18 58 69 M20X40 6314C3 6314C3
280M M63X1.5 80 170 140 157 22 71 85 M20X40 NU318C3 6316
3158 M63X1.5 65 140 110 134 18 58 69 M20X40 6314C3 6314C3
3158 M63X1.5 85 170 140 167 22 76 90 M20X40 NU320C3 6316
315M M63X1.5 65 140 110 134 18 58 69 M20X40 6314C3 6314C3
315M M63X1.5 85 170 140 157 22 76 90 M20X40 NU320C3 6316
315L M63X1.5 65 140 110 134 18 58 69 M20X40 6314C3 6314C3
315L M63X1.5 85 170 140 157 22 76 90 M20X40 NU320C3 6316

F.8EDAZE. mé
2. i@ H: +0,-1
3.8|FNNE. js6
4. oM. EE
6. LR
6. RIEEcHha8 el A IEF AR IR DU ERHEB A,
B ERISh B TR R,

‘QCOMOTORS
25

Note: 1.Tolerance of Shaft End Diamter D:m6
2.Tolerance of Shaft Center Height H:+0,-1.
3.Tolerance of N:js6
4.Usable Shaft Length:EE
5.For Direct Flexible Coupling
6.Install the coupling and pulley please use tapping into a forced into the
shaft end, tapping shaft end installed by external force is prohibited,

Website | http://www.tecochina.net

Z&EHI: V1 (IM3011)

LB

[ A7 N NN

LD

o |

IEIHE

i HUES
Output (kW) FRAME
6P SIZE

DH TAP

DIMENS IONS 1IN MM

B mm

220 = = 315A 665 | 510 | 433 | 1376 | 25 | 1236| 508 | 600 | 550 | 660 M63X1.5 24 6
= 220 | 185 315A 665 | 510 | 433 | 1326 25 | 1156| 658 | 600 | 550 | 660 M63X1.5 24 6
250 = = 315C 665 | 510 | 433 | 1526 25 | 1386 | ©658 | 600 | 550 | 660 M63X1.5 24 6
= 250 %gg 315C 665 | 510 | 433 | 1476 | 25 | 1306| 658 | 600 | 550 | 660 M63X1.5 24 6
= 315 | 250 355A 720 | 565 | 488 | 1749 28 | 1579 | ©641 | 740 | 580 | 800 M75X1.5 24 6

NS SHAFT E?E:T—HENSH_JN BEimFT&G
FRAME
EE Ix i EL e i
SIZE DE NDE
315A 70 140 110 134 20 62.5 74.5 M20X40 6315C3 7315
315A 95 170 140 157 25 86 100 M24X48 6220 6320
315C 70 140 110 134 20 62.5 74.5 M20X40 6315C3 7315
315C 95 170 140 157 25 86 100 M24X48 6220 6320
355A 95 170 140 157 25 86 100 M24X48 6222 7318
HLBEDAE: m6 Note: 1.Tolerance of Shaft End Diamter D:m6

2. i H, +0,-1

3.BISNAZE. js6

4. ST, EE

5. HIEED

6. RFECHhER S F HEF iR I F ERhE N,
B OE RIS H B TR R 3

Website | http://www.tecochina.net

2 Tolerance of Shaft Center Height H:+0,-1.

3.Tolerance of N:js6

4.Usable Shaft Length:EE

5.For Direct Flexible Coupling

6.Install the coupling and pulley please use tapping into a forced into the
shaft end, tapping shaft end installed by external force is prohibited,

TECOMOTOy
26



